



## **Quote Summary**

Prepared For: Prepared By:

Marcus S Sandberg 4453 470th Ln Hay Springs, NE 69347 Home: 308-430-3340

Mobile: 308-430-3340

MSANDBERG6252@HOTMAIL.COM

Jackson Henry
21st Century Equipment, LLC
1520 West 10th Street
Alliance, NE 69301
Phone: 308-762-5870
hjackson@21stcenturyequip.com

Thank you for the opportunity to earn your business. We strive to live up to our Motto "Developing Solutions, Delivering Success" "Due to ongoing global supply and labor issues affecting John Deere, the manufacturer build date could impact pricing on the New John Deere equipment on this Purchase Order. 21st Century Equipment will contact the customer within 5 days of receiving a confirmed build slot, IF that build date creates a change in pricing. At that point, the customer will be given an opportunity to confirm the order or cancel the order without penalty.

Quote Id: 30340694
Created On: 07 February 2024
Last Modified On: 14 February 2024
Expiration Date: 14 February 2024

Customer Initial \_\_\_\_ Dealer Initial\_\_\_\_"

Equipment Summary	Selling Price		Qty		Extended
JOHN DEERE G5Plus Universal Display	\$ 9,697.00	Х	3	=	\$ 29,091.00
JOHN DEERE G5 Universal Display	\$ 8,496.00	Χ	3	=	\$ 25,488.00
JOHN DEERE StarFire™ 7000 Universal Receiver	\$ 5,802.00	X	6	=	\$ 34,812.00
JOHN DEERE JDLink™ R Modem - 4G	\$ 1,066.00	X	5	=	\$ 5,330.00
JOHN DEERE JDLink™ M Modem - 4G with Universal Harness	\$ 500.00	X	4	=	\$ 2,000.00
Equipment Total					\$ 96,721.00
	Quote Summary				
	Equipment Total				\$ 96,721.00
	SubTotal				\$ 96,721.00
	Est. Service Agreem	ent Tax	K		\$ 0.00
	Total				\$ 96,721.00
	Balance Due				\$ 96,721.00

Salesperson : X	Accepted By : X



## **Selling Equipment**



Quote Id: 30340694 Customer: MARCUS S SANDBERG

	JOHN DEERE G5P	lus Universal	Display	
Hours:				
Stock Numbe	r:			o
				Selling Price
	<b>B</b>	•		\$ 9,697.00
Code	Description	Qty	Unit	Extended
04C1PC	G5Plus Universal Display	3	\$ 9,695.00	\$ 29,085.00
	Standard Op	otions - Per Unit		
0202	United States	3	\$ 0.00	\$ 0.00
0409	English	3	\$ 0.00	\$ 0.00
1099	Less Modem	3	\$ 0.00	\$ 0.00
3099	Less Permanent License	3	\$ 0.00	\$ 0.00
4099	Less Implement Ethernet	3	\$ 0.00	\$ 0.00
6099	Less Renewable License	3	\$ 0.00	\$ 0.00
7099	Less Receiver and License	3	\$ 0.00	\$ 0.00
	Standard Options Total			\$ 0.00
	Suggested Price			\$ 29,091.00
	Custome	r Discounts		
	<b>Customer Discounts Total</b>		\$ 0.00	\$ 0.00
Total Selling I	Price			\$ 29,091.00

	JOHN DEERE G5 Universal Display			
Hours: Stock Number	:			
				Selling Price
				\$ 8,496.00
Code	Description	Qty	Unit	Extended
04C0PC	G5 Universal Display	3	\$ 6,495.00	\$ 19,485.00
	Standard Options	s - Per Unit		
0202	United States	3	\$ 0.00	\$ 0.00
0409	English	3	\$ 0.00	\$ 0.00
1099	Less Modem	3	\$ 0.00	\$ 0.00
3103	G5 Universal Display with AutoTrac™ License and Section Control License	3	\$ 2,000.00	\$ 6,000.00
4099	Less Implement Ethernet	3	\$ 0.00	\$ 0.00
6099	Less Renewable License	3	\$ 0.00	\$ 0.00
7099	Less Receiver and License	3	\$ 0.00	\$ 0.00
	Standard Options Total			\$ 6,000.00
	Suggested Price			\$ 25,488.00



## **Selling Equipment**



Quote Id: 30340694 Customer: MARCUS S SANDBERG

Customer Discounts		
Customer Discounts Total	\$ 0.00	\$ 0.00
Total Selling Price		\$ 25,488.00

	JOHN DEERE StarFire™ 7	'000 Univer	sal Receiver	
Hours:				
Stock Number:				6 III - B :
				Selling Price
_		_		\$ 5,802.00
Code	Description	Qty	Unit	Extended
1040PC	StarFire™ 7000 Universal Receiver	6	\$ 4,300.00	\$ 25,800.00
	Standard Option	ns - Per Unit		
0202	United States	6	\$ 0.00	\$ 0.00
0409	English	6	\$ 0.00	\$ 0.00
2021	StarFire™ 7000 SF-RTK 1 year License	6	\$ 1,500.00	\$ 9,000.00
	Standard Options Total			\$ 9,000.00
	Value Added Services Total			\$ 0.00
	Suggested Price			\$ 34,812.00
	Customer Di	scounts		
	Customer Discounts Total		\$ 0.00	\$ 0.00
Total Selling Pr	rice			\$ 34,812.00

	JOHN DEERE JDLink™ R Modem - 4G				
Hours: Stock Number:					
				Selling Price	
				\$ 1,066.00	
Code	Description	Qty	Unit	Extended	
021TPC	JDLink™ R Modem - 4G	5	\$ 450.00	\$ 2,250.00	
	Standard C	Options - Per Unit			
0202	USA	5	\$ 0.00	\$ 0.00	
0409	English	5	\$ 0.00	\$ 0.00	
	Standard Options Total			\$ 0.00	
Dealer Attachments					



## **Selling Equipment**



Quote Id: 30340694 Customer: MARCUS S SANDBERG

BPF10146	JDLink™ Tractor Quick Install Kit -	5	\$ 616.00	\$ 3,080.00
	7030, 8030, 9030 or MY2010 8R			
	Series Tractors			
	Dealer Attachments Total			\$ 3,080.00
	Suggested Price			\$ 5,330.00
	Customer D	iscounts		
	Customer Discounts Total		\$ 0.00	\$ 0.00
<b>Total Selling P</b>	rice			\$ 5,330.00

JOHN DEERE JDLink™ M Modem - 4G with Universal Harness				
Hours:				
Stock Numbe	r:			Selling Price \$ 500.00
Code	Description	Qty	Unit	Extended
021UPC	JDLink™ M Modem - 4G	4	\$ 500.00	\$ 2,000.00
	Standard C	Options - Per Unit		
0202	USA	4	\$ 0.00	\$ 0.00
0409	English	4	\$ 0.00	\$ 0.00
	Standard Options Total			\$ 0.00
	Suggested Price			\$ 2,000.00
	Custom	ner Discounts		
	Customer Discounts Total		\$ 0.00	\$ 0.00
Total Selling	Price			\$ 2,000.00